Spring '06/MAT 145/Exam 3  Name: .§ «:fit-f? e Show all your work.

1. (bpts) Use an addition formula to find the exact value of cos163° (do not use the

calculator).
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2. (3pts) Find the exact value of the expression (do not use the caleulator):

tan57° +tan12° _ Jp( 57~ rl“) - hn 45 - |
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(opts) Use a half-angle formula to find the exact value of ms'rl—;r (do not use the

3
calculator).
_‘;-_Elq__ e ?—"T: _t n G I‘i— C";".":g e
S 2 g 7 R $ o)
2 i
/2
7 2 v _ 2%
' 2 2 4
g, 177, 20
] Cof 12 ﬂ‘f[-
oo W -+ (2o +-n
15 = =1 T
12 V 4 2




4, (9pts) Suppose that —g <a <0 and % < 0 < w are angles so that tana = -—g- and

a
sin 3 = =. Use addition and half-angle formulas to find:
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5. (4pts) Saolve the equation (give a general formula for all the solutions).
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6. (5pts) Use vour caleulator to solve the equation on the interval 0 < # < 2r. Round
answers to two decimal places (answers in radians).

sinf = 0. r 9 = aresn (L7= 0. 75
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7. (6pts) Solve the equation on the interval —7 < # < 7

sinf +cosfl =0
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8. (8pts) Solve the equation (give a general formula for all the solutions).
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9. (5pts) Establish the identity: o= cos f
1+ tan- 3
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Bonus. (5pts) Establish the identity tan(r — #) = —tan# in two ways:

a) bv using an addition formula
b) by drawing a picture and explaining.
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